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The scr |
Otum consists of 4 layers. What are they?
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1 . . .
hermoregulation can occur In multiple ways. Name and explain a few ways.
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The parenchyma is composed of the
components.

and the :t%M

The —HL WLL(/S are located within the mediastinum (CT core / elevator)

of the testes and transports Wand fluid from the_SE[V] 111 E({MQ
\’U\W’i{ S to the efferent ducts.

What is cryptorchidism?

filure  of the testes 10 deseend inbo e spotum.

Match the following terms to the definitions:

B Bilateral Cryptorchidism A* Unilateral Cryptorchidism

3. One testicle is descended from the body. Produces Testosterone. Can produce fertile
—

sperm.

b. Both testicles are not descended from the body. Produces Testosterone. Cannot

M

produce viable sperm.
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Sertoli cells are.. .

a. Have FSH and T receptors
b. Are the only somatic cells in the tubule compartment

C. “Nurse” cells for spermatogenesis
d. Form part of the blood testes barrier

All of the above

Leydig cells are...
a. ProduceT

b. Are within the interstitial compartment

. otimulated by LH
@ All of the above

Draw out spermatogenesis:
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W g
hat are some changes that sperm undergo that are necessary for fertilization to occur?
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What are the 4 functions of the epididymis?
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As far as males, they can produce gametes @Mﬁﬁ :ﬂall of their lives, while females

and have a set number of gametes.

Ductus deferens and are the same thing?
a. Efferent

b. Vascular

C. Spermatic
@ Vas

e. Allare names for the ductus deferens. They are all interchangeable.

Where do spermatozoa acquire their fertility?

(01U

Where are spermatozoa eligible for ejaculation and kept for storage?

How can sperm be lost?
a. Reabsorbed by the excurrent duct system

b. Lostin urine
c. Masturbation

All of the above

e. None of the above

Match the following term to a definition:
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DTeStiC“'a" Capsule ‘,A(Parenchyma UVIediastinum Rete Tubules

Seminiferoys tubules and Interstitial
COmpartment

tissue that consists of the interstitial and tubule




